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Understand that ‘;olunons to a system of two linear equations in two
variables correspond to points of intersection of their graphs, because
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points of i Intersection satisfy both equations simultaneously.
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What 1s a solution?
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Solutions to a System of Linear Equations
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Determine the # of solutions for the following equations:

-—
-

X
1) y—-2x+1m--3b"’\

00 lopt

1

Yoo\ Lies

# of Solutions: ﬂf_«ﬂg

y=-2x-3 n’\'-aw

4SSt At

[T mx.:(L

2.) “XHY=R
y= Xt a3 b3

;/{'* b Teovo

L@m‘ L b0

di S eceny %l%(m)
3

\ rererggeﬁr% Lines

# of Solutions: -(l{;j)

_2‘ é'—‘_/_

A

~Sang slopas> |
-—%a\mﬁ \ *'(b) :'
\ !
g&mE/UAQS l:
# of Solutions: k. So‘lﬂ‘:l‘é!'@
1
L]

i

Scanned with CamScanner



T‘uegda?z odd S w Cvene

Math 8 Name
© 2020 Kuta Software LLC. All rights reserved.
Introduction to Systems of Equations Date Period
Determine if the ordered pair is a solution to the system of equations.
% y
1) 2x+2y,10f>a(a)+2(23:|0 T
+14 3x+2y=-22
9“ 'L: 3)*13
7@:'_2')1 (6, 10)
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0. Solofion
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) 5= gy=—2=> (8)-3(0) =24 4) Sx+ y=24
-_y = - 4x-2y=22
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system will have. You may need to arrange one or both of the equations first.

5) y=4x+20 —> M=% =20 6) —-12x—2y=-8
y==3x-22

- =—6x+3
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Ny=2x+17 —’2\’1’\“2 b=\ 8) —x+4y=-19
. x—4y=19
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